QUESTION BOOKLET

This question paper contains 170 H&;.lestlons /%8 m RER 170 YA
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L. . To increase the resistance to slipping between the steel bars and the concrete,
the surface of the bars is sometime rouzhened Such bars are known as :

EA Deformed bars - ) Indented bars
F%\:i Both (g%‘md (B) (D) None of these

) oel & Weg Ty Wﬁﬁ?f’m -7t o3l i A
) GG ST AR | ﬁ@%’lﬂmm%
(A) fasfa 9% ) eeR B3 Be
(C) (A)3 (B) T (D) T @ #1§ T B

2. The product of mass and velocity of a moving a body, is called
. (A) ‘Moment (B) Momentum (C) Power (D). Impulse

e i RS 1 5eEHIA A 4 U iﬁm%

(A) smpEl  (B)  am 'n(ﬂ)J a Y (D) ¥m@m
3, * Red colour is imparced to bricks due to -\‘-3:-_,.

_é.%) Iron oxlde (B% thca (C@ ]?Jme '~ (D) Magnesia

(A) mmm)m - |(G} w (D) Hfifern
4.  The type of bond provided in brick masonry for ing heavy loads is

gAg single Flemish bond | E ; double F emlsh bond

~ (C) English bond : zigzag bond

ﬁmm%mkﬁwﬁﬁﬁmaﬁmmmm

(A) THe TN FTEY (B) . T8™ Wity ATEY

(C) el ey - (D) &gr-Aan (ﬁm-@n) Y

5.  The lintels are preferred to arches because
" (A) arches require more headroom' to span the openings like doors,

i windows etc.
;B arches require strong abutments to withstand arch thrust.

C) arches are difficult in constructlon
D) All of these

3§ e =1 Thaa T R, HifH
(A) =TI B TN, Ragheal W Mﬂﬁﬁ?ﬂﬂiwﬁaﬁmﬁﬂh-

3t i aravaHal w8 |
(B) mﬁaﬁmmﬂﬁqﬁ#ﬁ‘ﬂwmﬁmmﬁil

- © ﬁﬁmﬁwﬁaﬁmgﬁtﬁmti
(D) I% vt
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6.  Laminar sub-layer exists within
(A) laminar boundary layer region (B) transition zZOn¢
(C) turbulent boundary layer region (D) None of these

Fvegee T foreme g &
(A) I HIHT wee &1 3 (B) wswul i A
(C) W=l | &R & o (D) T @ &I Tel

7. Assertion (A) : To estimate the rainfall over a catchment, the number of

raingauges required per unit area is large for hllly areas.
Reason (R) : Rainfall gradient is steep.
Select your correct answer according to the coding system gwen below :
(A) Both (A) and (R) are true and (R) is the correct explanation 0 (A)
(B) Both (A) and (R) are true but (R) is not the correct explanatlon of (A).
(C) (A)is true but (R) is false.
(D) (A) is false but (R) is true.

FRrHY (A) Waﬁaﬁaﬁm%mqﬁaéﬁ%ﬁmm
Futardt Y T i gt & 3T Bl |

- SR (R) : 991 YOUT €I R |

12 & 77 e TR 3 FTTAR T IO B FE R

(A) (A) 3R (R) A T EqUI(R), (A) FT R WEHIR | .

(B) (A) 3R (R) gFi Tcd &, Afd (R), (A)maﬁrwﬁwqﬁf%l

©) (AT, AR FTARI

(D) (A) I@c@ 8, A (R) TSI R |

8. The maximum width of a vehicle as recommended by IRC i 1s

IRcmmgmﬁﬁ@mﬁaﬁmﬁ:{é%
(A) 1.85m (B) 2.44m (C) 3.81m (D) 4.72m

9.  Scientific planning of transportatlon system and mass transnt facilities in
cities should be based on

(A) spot speed data - (B) origin and destmatlon data
~ (C) traffic volume data - (D) accident data .
el ufteE e aﬂtmqftaagﬁmaﬁmémﬁmﬁﬁm TG 8 3 W
(A) =fs s (B) g 3R A €
(C) ITamTd AT 82 - (D) geen
10. The background colour of the mformatory sign board 1s :
(A) red - (B) yellow . (C) green (D) white
g g ufgem &t gevfi 1 o1 g |
(A) @ (B) em (C) & .'~'-'~~(D) TH
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11.

12.

13.

14.

(D) T WarE  Afas FaTT T |

(A) mRERTR

- (B) they are glued under pressure.

Centre of buoyancy always

(A) coincides with the centre of gravity.

(B) coincides with the centroid of the volume of fluid displaced.
(C) remains above the centre of gravity. |
(D) remains below the centre of gravity.

ICHATI & Feg, THTN — o
(A) TToeTHNT F5 b U HUT B & |

(B) freeriva 79 % ST % g 35 A AR SRR |
(C) TocaT=dv 5 & FREAT R | | |

(D) TReTHYT %5 F AR TR |

The horizontal component of force on a curved surface is equal to the
(A) product of pressure intensity at its centroid and area.

(B) force on a vertical projection of the curved surface.

(C) weight of liquid vertically above the curved surface.

(D) force on the horizontal projection of the curved surface. -

O T TR T H1 A e T0h IR BRI 8~

(A) ¥ 3 8 TG Hisrar 1 et | o
(B) F5IT g H SAM GG | aeT | | Eﬁ

(C) THh1T HaE W FEaTtR S 5 1 F9H |

In steady flow of a fluid, the total acceleration of any fluid pa&icle

(A) can be zero. (B) is never zero. |
(C) is always zero. (D) is independent of co-ordinates:

o g % TR AT 3 Tt e 5T 1 e e |
- (B) wMfifiyEIE el

© wmy@gmdl (D) P dEEdwe

- The expansion and shljinkége of plywoods are comparatively very low as

(A) they are held in position by adhesives.

(C) plies are placed at right angles to each other.

(D) they are prepared from veneers. R
mﬁﬁmﬂ@qmmﬁm@m%ﬁﬁs—.. ‘
(A) TR T G Y T TGN AR |
(B) I gua # fRygepran ST & | - .
(C) ,mﬁﬁqas{aﬁmaﬁwﬁ@m%'l
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17.

18.

19.

If in a concrete mix the fineness modulus of coarse aggregate is 7.0, the
fineness modulus of fine aggregate is 3.0 and the economical value of the
fineness modulus of combined aggregate is 6.0, then the proportlon of fine
aggregate is

e, shehie s 3 eper forerran o1 e Wi 7.0 8, e foverTan 1 EAT HIE 3,0
Wﬂﬂﬁﬁm%wwwﬁmmm%ﬁrqﬁmwm%-

(A) 25% B) 333% (C) 20% ~ (D) 50%
Blast furnace slag has maximum of : |

(A) Lime (B) Silica (C) Ironoxide (D) Alumina
ST 9L AR 7 rfrena € B |

(A) =5 (B) fuferr (C) I afaarse (D) T

A good brick, when immersed in water bath for 24 hours, should not absorb
more than

(A) 20% of its dry weight - (B) 30% of its saturated welght

- (C) 10% of its dry weight (D) 20% of its saturated weight

@aaﬁ‘ézﬁmwﬁﬁmﬁ%ﬁmﬁu%m%mm,a}aﬁsﬂﬁmqﬁ
LGRS 1Y | |

(A) 39+ Y[ T FT 20% ~ (B) amﬁziqnaaqamo%

(C) AMTHTHFII0% (D) mﬁﬁqnmmzo% |

The intensity of irrigation means :
(A) Percentage of culturable commanded area to be ngated annually
(B) Percentage of gross commanded area to be irrigated annually

| (C) Percentage of the mean of culturable commanded aréa and the gross

commanded area to be irrigated annually
(D) Total depth of water supplied by the number of watering

R A dearaaad s
(A) mﬁmmmmﬁmﬁmm@s«%ﬂmuﬁﬂm

(B) =nftfes fé=s foru 9 a1t Ther IS & 1 wfaera

©) aﬁmﬁvﬁﬁﬁqaﬁmﬁwm@géﬁwwmm@gm&m
- I yfowa | -
(D) mﬁmmmﬁaﬁwﬁw@

Pick up the incorrect statement from the following.

Culturable commanded area is the gross area of an irrigation canal system less
(A) Populated area (B) Alkaline area

(C) Forest area : (D) Fallow land

e 8 @ Fa AT B A |
;ﬁaﬁwm@gaﬁa%@wﬁaﬁm@n%@mm— —
(A) I ET  (B) ¥@Ed  (C) W8 . (D) Swaw
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20.

21.

22,

23.

The sensitivity of a rigid module, is

T Tg wforeaeh <! GoTfear 8

(A) 2.00 (B) 1.50 (C) 1.00 (D) Zero
The measure to remove water logging of land, is

(A) to reduce percolation from canals and water courses

(B) to increase outflow from the ground water reservoir

(C) Both (A) and (B)

(D) None of these

Wty <Y SrerTsRife I §TM HT alieT |

*(A) SrTET HRAEU @ -0 § FHH B |
(B) uftt 5Tt &idi & I 1 el srgree | g%
(©) (A) 3R (B) T =
(D) T A TE
A hydraulic structure is designed to w1thstand
(A) Seepage forces (B) Hydraulic jump
(C) Hydraulic pressure (D) All of these
Th BISGIoTeh ATl HEA o fo1q SATehiedd foha ST 2 |
(A) TG FA (B) BT3SiTeTeh 97
(C) g qm (D) TEwf

Assertion (A) : Rectangular welr formula cannot be used to f' nd out
discharge in Cipolletti weir.

Reason (R) : In Cipolletti weir decrease in discharge due to end contraction
1s balanced by the discharge through the trtangular portion

Select your correct answer according to the coding system given below :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(C) (A)is true but (R) is false.

(D) (A) is false but (R) is true.

AHYET (A) - Méﬁémﬁﬁaﬁqaﬁmm%mwémqgm

I9T TET foRaT ST HehelT |

R (R) : ﬁ‘@éﬂéﬂtﬁmaﬁq%mﬁmﬁhﬁmﬁmwm

% forgeln @ wgfera T 8
= 7 e ot % STTER FE IH G |
(A) BHT(A) 3R (R) & & AT (R), (A) T T THHT 2 |
(B) IFI (A) 3T (R) g &, Afeh (R), (A)aw-é’rmﬁmﬂﬁf%l
(C) (A)IE, TG (R) FEAR |
(D) (A) JES B, W(R)‘HRI’%I

— e s e e, s e, e,
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24,

285,

26.

27.

28.

Minimum number of bars to be provided in a rectangular section column are
@W@gmﬁaaﬁmwﬁwé@r%

(A) 4 (B) 6 (C) 8 (D) 2

Minimum diameter of bar to be used in RCC column is :

RCC & H 317 81 aeft el oh =dd =7 3

(A) 10 (B) 12 (C) 16 (D) 8

In the limit state of collapse-flexure, the maximum compressive strain in
concrete, 1n axial compression is

T~ ST <6 e srereert 3 avefiar wfven & e i arfiraan Gt fga 2
(A) 0.0015 (B) 0.002 (C) 0.003 (D) 0.0035
Assertion (A) : PERT is ideally suited for the projects with repetitive nature.

Reason (R) * In building construction, determining the time for various
activities is not a problem.

Select your correct answer according to the coding system given below :.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(C) (A) is true but (R) is false.

(D) (A) is false but (R)is true.ff s Sy 3
(A) : PERT 3Tesl &9 # gREq et TR & A ¢ |

B (R) : o Fmton &, fafrmr st =61 v e e o e T 2

- TS e et % srem v wd S -

(A) THI(A) 3R (R) &1 & 79 (R), (A) b1 T Eqdfieeor 2 |

(B) THI(A) 3 (R) ¥ &, T (R), (A) 51 HEt wdianeo 787 2 |

(C) (A)TA R, W (R) 3EH R | - |

(D) (A) IHE 8, Tg (R) T R |

Assertion (A) : Ceiling need not be at a height more than 1-1.3 m above the
height of occupant.

Reason (R) : Decrease in radiation emitted by the ceiling behind that
distance is negligible.

Select your correct answer according to the coding system given below :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(C) (A)is true but (R) is false.
(D) (A) is false but (R) is true. _ '
(A) : AT ot Hoirg 1 rferameht 7 F=E @ 1-1.3 F. F e IwoEA
JTE9TH T8 8 | . ,
HR (R) : 39 glt % wv=e #iferm grr seafia faferor & w5 srmg 21t 2
= <) 778 e JoTTeft o FUT W T IR T ; |
(A) THI (A) 3R (R) & § 1 (R), (A) 1 & Sfmwon B |
(B) SMI (A) 3R (R) ¥4 &, 70g (R), (A) 1 &) TEiemior 7 2 |
(C) (A) T8, I (R) IFEA R | s
(D) (A) 3\ 8, W (R) TR |
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29,

30.

The design strength of tension member is

(A) design strength of gross section due to yielding
(B) rupture strength of section

(C) block shear strength

(D) lowest of the above

T 3raE T AThedd ame |

(A) e ¥ B0 QU WU Y Ao g Bz
(B) @ ! wfagror amed | £
(C) e AT AT

(D) Ik | & HoH HH

Assertion (A) : 1 nautical mile is 1.852 km. ;
Reason (R) : It is length of one minute of arc of a meridian on earth surface.
Select your correct answer according to the coding system given below :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(C) (A)is true but (R) is false. .

(D) (A) is false but (R) is true.

At (A) : 1 AiReshet et 1.852 forft. 2

HROT (R) : T8 Teft i g T T FTHITH A F AR HTEER |
qﬂ%zﬁnﬁﬁzm%mmw:ﬁtgﬁ: |

(A) i (A) 3 (R) §e § 7 (R), (A) 1 T TR |

B) A (A) 3N (R) T &, TG (R), (A) 1 TE TR T & |

(©) (A)TI R, R (R) FEAR | | -

(D) (A) IEAE, g (R)TAR |

Excess of lime in the brick earth makes the bricks.

(A) brittle and weak (B) - crack and warp
. (C) melt and lose shape (D) improve durability
42 et iy o e, F R TR
(A) IR 3R FHSI (B) Tt M HS
(C) gfer 3 3R fdH (D) A TGHT

32.

The compressive and tensile strength of cast iron are ;

(A) 700 N/m?-and 150 N/mm? (B)* 600 N/mm? and 400 N/mm?
(€) 415 N/mm?and 415 N/mm?>  (D)» 400 N/mm? and 600 N/mm?
Ziat rer &1 adtes 3 a7 awed @ -
(A) 700 N/m23 150 N/mm? . (B) 600 N/mm?2 37T 400 N/mm?
(C) 415 N/mm? 3415 N/mm?> (D) 400 N/mm? 3ilt 600 N/mm?

\ T - 9 Code No. : C-747/2021/Series-C



33.

3S.

36.

37.

Which of the following is a variety of aluminum alloy ? :

(A) Duralumin (B) Aldural  (C) Y-alloy =~ (D) Allofthese
o= 1 @ B W wegfitem firarg @ T R R

(A) TERE  (B) s (C) Y-Rerg (D) FEIA

The fixture provided on external door for locking is knows as .

(A). aldrop bolt (B) .flushbolt  (C), barred bolt (D) tower bolt
TR TS R WA RAT 3 fore fRE AT AT ReerereR 31 ST 1T & —

(A) TEHEee (B) wWaee (C) sdee (D) TR

Steel trusses have almost replaced wooden trusses because
(A) they are light weight.

(B) they are fireproof and termite proof.

(C) they can be easily built to greater span.

(D) All of these _
o7 Y SR Y T A i BRI w1 wE o o ], s
(A) ITAATAR AN E | |
(B) I M AN EHh VA SR | - |

(C) 3 = 3 foreqa w9 & A & T 1 FHaT 2 |

(D) g @t

Darey’s law is based on the assumption that |

(A) there is laminar flow condition (B) soil is saturated

- (C) soil is homogeneous and isotropic (D) All of these

T F1 Ragra 39 3rayron W AuTiE 8 76 |
(A) T qeeiia yarg fafa gt | (B) GRIEQH T |
(C) Te1 Tt 3R TR & | (D) Ig i

Assertion (A) : Surface tension decreases with the rise in temperature.
Reason (R) : Surface tension depends directly upon the intermolecular cohesion.
Select your correct answer according to the coding system. given below :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(C) (A) is true but (R) is false. |

(D) (A) is false but (R) is true. |

AR (A) : ATTHH TG AT FAE T LAl ¢ |

HI (R) : FE G O 30— Hood | ware |

Y & 778 e JorTet H YR T EH T :

(A) QI (A) 3R (R) e & 791 (R), (A) 1 &t TERIR |

(B) 2 (A) 3 (R) T B, g (R), (A) 1 HEt THEHT 7 2 |

(C) (A)TE R, TG (R) AR |

(D) (A) @R, WY (R)TAE |
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38.

39.

40,

41

42.

43.

If the Froude number in open channel is 1.0, this flow is known as
(A) Subcritical (B) Critical (C) Supercritical (D) None of these
Tf et 2 3 3613 T 1.0 3, i 3 FATE I S S 8
(A) IUshifeh (B) ifds
(C) afersmiferes (D) T H IS TE
A green building is the
(A) one with green colour
(B) building surrounded with garden
(C) structure that aims to reduce negative environmental effects
(D) All the above |
Toh 17 e 2%
. E i
(A) RUTH |
(B) = & for g3t He
(C) T RTT ST FehTIeHehal Tl ST i FH T |
(D) FE=f
Lakshmi Narayan temple of Chamba is the group of
Ay six temples (B) seven temples
(C) eight temples (D) Eighty four temples
TV T AEHIHIEY TG TE
(A) B: et (B) ®Td AfeT (C) meHfe (D) =Rt Afet
Una district was formally known as .
(A) Kirgram (B) Dhaneri  (C) Baned (D) Jaswandoon
S Fore afta=nies §9 7 ST ST A1 | -
(A) Team (B) &l (C) Mg (D) SEaMHgd
Norah Richards lived at which place in H.P. ?
(X) Naggar (B) Manali (C) Sundernagar (D) Andretta
TRy SRR A REIY ?
(A) TR (B) T - (C) TR (D) 3=
What is the literal meaning of Minjar ?
(A) Maize flower o (B) Wheat flower
(C) Marigold flower - (D) Chrysanthem flower
firei o1 wifeesh S TR 7
() THEHRFIEA (B) TEH B
(C) RFEA - (D) TeIEISE! 1 R
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44,

45.

46.

47.

" 48,
49.

50,
51,

52.

The headquarters of Army Training Command is located at which place in HP ?
(A) Dharmshala - (B) Jogindernagar

(C) Dakshai (D) Shimla

It 3 T e Ry A TR wRae 7

(4) whEn  (B) WP (C) T (D) R
Dhungri fair is celebrated at which place in HP ?

(A) Mandi (B) Manali (C) Saikaghat (D) Chail
2 e 2.9, % fvw s WA ST E 7 :

(A) T& (B) wATEA (C) sEeER (D) 9
Shunto is a folk dance of which district of H.P. 7

(A) Kinnaur - (B) Lahaul-Spiti (C) Kangra (D) Sirmour
Ty SR eras e ?

A) =R (B) wew-wfifd (C) wier (D) RTiR

Dhaula Sidh hydroelectric project is constructed on which river of H.P. ?

(A) Chenab (B) Ravi (C) Beas (D) Satluj
oo R et oieorn e AR A weg e
(A) fomma (B) T (C) =™ (D) WA
Total number of Municipal corporations in H.P. is

w0, # wermaRTEsi R A qENR 7 |

(A) 2 B 5 ©8 . (D10
How many district did Himachal have till 1966 ?. '
1966 7 Tt o i Rt & 2 "

(A) 6 . (®B) 8 (©) 10 (D) 12

In which year was the Treaty of Sagauli between the Gorkhas and the British

~ Signed ?

mﬁiaﬂtmﬁ%mmﬁa&rmaﬁm&ag& ?
(A) 1815AD (B) 1825AD (C) 1835AD (D) 1845AD

Bilaspur town was founded by

(A) Bir Chand . (B) Alam Chand (8)] Deep Chand (D) Abhay Chand
e —— g

(A) ¥rwg  (B) FEAEE (C) W (D) WwWwR
Dashar lake is situated in which district of H.P. ?

(A) Solan (B) Shimla (C) Kullu - " (D) Una

- o Ry e Rl

(A) @wa - (BY fmen € =1 .. (D) S
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53.

55.

56.

57.

59.

Pangi Valley is situated in which district of H.P. ?

(A) Bilaspur  (B) Hamirpur (C) Kangra (D) Chamba
gt ard R % e D a2 7

(A) femeR  (B) wRg (C) HreT (D) ==
Which is the driest place in H.P. ?

(A) Spiti .(B) Kalpa (C) Shillai (D) Kutlehar |
feadaRy. FoR TR @? ?

(A) =fifa (B) weqr (C) Freems (D) TR

As per the report “The Costs of Climate Change in India”, by what % India’s
poverty rate would increase by 2040 due to climate change ?

‘AR § FeraTg IREd it hima” 6 fHie & AR, Toarg qRad & HRo WA
1 7ilief g 2040 T ToRa wferera (%) 7g St 2
(A) 2% (B) 3.5% (C) 4% (D) 10%

Which of the following schemes is a food security scheme, launched recently
by the Union Government as a part of the Atmanirbhar Bharat Package ?

TP WRA I T8a & FE1T THR G T € § @ 718§ Rt =i
fraddsmdits

(A) PM-FBY ﬁ LQCX& ﬁ) l:l [(;‘:' (D) PM-JIBY
Which state has re ﬁ Chhatrapati Shivaji, titled
‘Chatrapati Shivaji Maharaj Shivrajyabhishek Divas’ ?

(A) Maharashtra (B) M.P. (C) Goa (D) Karnataka

fr=r  § 99 ¥ TS g0 TAR RrEvh w Ee € # 1 @y feen fefs @,
ﬁﬂmmmﬁ ‘wAYTa frarh v Revsatins fega’ ?

8]

(A) wewTy (B) w.u. (C) T (D) wvifew
Nurture : Neglect : : Denigrate : ?

(A) Reveal (B) Extol (C) Recognise (D) Calumniate
TSOT ; I : : TG 7 -

(A) e (B) TOTTH (C) wr=a (D) W8

In a certain code ‘COMPUTER’ is written as ‘RFUVQNPC’. How is
‘MEDICINE’ written in the same code ?

feeht faffea %2 § ‘COMPUTER’ ®Y ‘RFUVQNPC' feran Jman @ |mv5am
% ‘MEDICINE' %! %1 foran s 2

(K) EOJDJEFM (B) EOJDEJFM (C) MFEJDJOE (D) MFEDIJJOE

13 Code No. C-74712011ISarles-C



60.

61.

62.

63.

65.

Reaching the place of meeting on Tuesday 15 minutes before 08:30 hours,
Anuj found himself half an hour earlier than the man who was$ 40 minutes
late. What was the scheduled time of the meeting ?

(A) 8:00hrs  (B) 8:05hrs  (C) 8&15hrs (D) 84 hrs

T B T et e 08:30 99 & 15 . Tt e g 3 I 6 R W
ATt A ST He UgSt R, S 40 . T IR R | Sty oy Frga WA AT 7

(A) 8:009&1  (B) 8:058a (C) 8156 (D) 843F

In a row of children, Neeta is fifteenth from the left end of the TOW. If she is
shifted towards the right end of the row by four places, she becomes eight
from the right end. How many children are there in the row ?

w1 ) T AR &, a1 HaR F 99 SR A 1547 § | qf 3 A IR T A
Rt foan Ty, A 7@ et 3tk @ arrael & Tt & | e i Py w1 € 2

(A) 24 (B) 25 (C) 26 (D) 27

Healing of wounds is hastened by which vitamin ?

(A) Vitamin A (B) VitaminC (C) VitaminE (D) VitaminK
wEA! 1 31 B v e S gro s AT @ ? -

(A) RefmA (B) fefmc () fafmeE (D) RfAK
Meningitis is a disease which affects the

(A) kidneys (B) liver (C) heart (D) brain
Af=efew T I & <t s i @

(A) Tahi B (B) THaw®l (C) T@H (D) wferss =

A magnified and virtual image of an object can be obtained using a

(A) Plane mirror (B) Concave mirror
(C) Convex mirror (D) Concave lens

1 ITENT T T I 1 Haea 3R s sfafie s s wwan 2
(A) SF@@idn  (B) @@ (C) @ (D) A A9
What is added to industrial ethanol to make it unsuitable for human

consumption ?
(A) Methane (B) Benzene (C) Methanol (D) Chlorine

e suATe # wami % fg Jwartt @ & e s Pem s @ 2

(A) = (B) =i (C) BT (D) =
According to Jain literature, the first Tirthankara was

(A) Rishabhadeva (B) Parsavanatha

(C) Neminatha (D) Mahavira

3 wfeedt % gER, wuu dde 4

(A) FoRE (B) WM (©) WM D) we
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67.

68.

69.

70.

71.

72.

The achievements of Samudragupta are described in the

(A) Hatigumpha inscription (B) Allahabad Pillar inscription
(C) Girnar inscription_ (D) Sarnath inscription

e o Icfeud] saH afvia @ .

(A) g e (B) TOEETE W SR

(C) iR i@ (D) 9 AhE

‘Let no man ask a man’s sect or caste’. Whose dictum was this ?

(A Kabir (B) Ramananda (C) Ramanuja (D) Chaitanya
S =R Femelt o1 o & ST 7 q@ * J8 U fehEehT T ?

(A) ®eR B) ™RR ~ (C) WES (D) ¥

The first Mughal emperor to issue a firman in favour of the British to open a

factory at Surat in his empire ? ,

(A) Aurangzeb (B) Jahangir  (C) Shahjahan (D) Akbar

ﬁgﬁmﬂ? AT T g B S B e I T b T HEH
? .

(A) I (B) WEhfR (C) g8l (D) 3THH

Which is correctly matched ?

(A) Kesari—B.G. Tilak (B) New India - M.K. Gandhi

%%q) Young India — Annie Besant (D) Yugantar —Aurobindo Ghosh

F YN T A TR 7 . .
(A) Fal - <th. foaw (B) = sfean—wn.. Mt

(C) amEfean -t 9E (D) IR — IRf=) &

The President of the Indian National Congress at the time of Indian
Independence was

(A) Maulana Abul Kalam Azad (B) J.B. Kripalani

(C) Pt Jawaharlal Nehru (D) Dr. Rajendra Prasad ,
AT & GHE WA T S & ares o e
(A) HISHT A HeATH HNTQ (B) .. Fuart

- (C) Y. AT E® (D) S W% Y9G

Fundamental Freedoms under Article 19 are suspended during emergency

caused by

(A) war or external aggression.

(B) failure of constitutional machinery of a state.
(C) internal armed rebellion.

(D) financial crisis.

%lg%mmmw@ﬁaaﬁmmm

(A) TG ARG AGRAT |
(B) Teh U i Hawfe HrEsomeh i faserdt
(C) e gra fagig -

(D) i dhe
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73.

74.

75.

76.

77.

79.

The first No Confidence Motion moved in the Lok Sabha after mdependence
was in which year ?

TR # AT % a7g yorg HTATTE FETa fpw o 3 e 147 91 7

(49 1963 (B) 1969 (C) 1975 (D) 1999
The Chairman of Public Accounts Committee is
(A) elected by Union Cabinet (B) appointed by speaker
(C) appointed by president (D) elected by members of PAC
o o aftifa % areye 2 ,
(A) HR bfemz gro safE - (B) wwgm e

(C) Tugufagra e - (D) PAC % "e&i gi1 9afd
Which tax is not levied by the Union Government ?
(A) Wealth Tax _ (B) Excise Duty
() ?rofession Tax (D) Income Tax
7= 4 @ 9 w1 i T grr A€ I S ¢
(A) T | (B) 3G Ieh
(C) sH@EH (D) 3R
When was the RBI téken over by the Government ?
TR A RBI &1 tfeurdia e fomam 2
(A) 1948 (B) 1949 £€) 1950 (D) 1952

At the core of the earth, the temperature is estimated to be around -

geeft 3 shts ®, AT ATH T 3

~ (A) 1000°C  (B) 1200°C ) 2000 °C (D) 2600 °C
78. |

The phenomenon of Aurora Borealis is due to radiations from

" (A) Troposphere (B) Ionosphere (€) Mesosphere (D) Stratosphere

I gl fa 6t w2 Bt R 3 fafemor & - |
(A) @vHsH (B) m (C) weyHgw (D) wHATIYEA

The term ‘Parkland’ is used for

(A) Savannas (B) Coniferous forests
(C) Deciduous forests (D) Mediterranean region
e wEHISEN_ Ffmd?

(A) 99 T ' (B) JEARR a -

(C) uoHTet 3 (D) YHHERHE 8%
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80.

81.

82.
83.

84.

85.

86.
87.
88..

89.

The Sona] — Rupa Sanctuary for one horned rhinoceros is situated in which state ?
(A) Assam (B) Kerala

(C) Andhra Pradesh (D) Tamil Nadu
T Hi o1 WSt 1 AT -%91 SrvRey g T A R @ 7

(A) 3w (B) & (C) I YW (D) aftrerTg

Jute is grown in India due to

(A) large market B) many canal systems
(C) presence of sea port (D) hot & wet climate
WRd A ¢ I S g |

(A) SSTENR R | - (B) wgd AR T8 e

(C) ugsh w<wTe! ht Jufeufer (D) T 3R 3 ey E@

‘Antonym of ‘Rabid’ is

(A) Decent (B) Fair (C) Rational (D) Pure

One word substitution for “The School or College in which one has been
educated’ is

(A) Matinee (B) Alumni (C) Alama’mater (D)' Calvin

One and you know how among them is the culprit.
(A) look (B) peep (C) sight (D) gaze

| Meaning of the idiom “To cut the Gordian knot’ is

(A) To solve a difficult problem (B) To be Victorious
(C) To break ties with someone (D) To defeat a powerful person

(A) B9+ (B) W+  (C) F:+W™W (D) WH+Y
‘S o guE _ _‘

(A) TRy B) &% ©) wghfe (D) 3w
(A) TREER  (B) @ (© MEw (D) AR
AR A GER T IR |

(A) ST - (B) aﬁama’rarm(C) FEAMEAT (D) I A S
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90.

91.

92.

94.

9S.

For clear distinct vision, images of obstruction should fall on the retina wig,
a cone of

-Ng%%m,m%wﬁﬁaﬁq%-mmwm%mmw
(A) 2 (B) 5 | (C) 4 (D) 3

The specific speed of a turbine under a head of 254 m to develop 100 Hp

‘while running at 100 rpm is

254 m 3 SrEr=aT % a8d 100HP3m=r$ﬁ%ﬁ=m 100rpmqtam%qfﬁza?sq
6 fafsrse oy 2y

(A) 10-35 (B) 35-60 (C) 60-300 (D) 300-1000

If Young’s Modulus is 1.5 x 105 N/mm? and Modulus of rigidity is 4.5 x 104
N/mm? then Poisson’s ratio will be

QA 1.5 x 105 N/mm? 37 501 7147 4.5 104N/nnn2%,€na1@r S &
(A) 0.66 (B) 0.3 "~ (©) 05 (D) 0.9

- If Young’s Modulus is 1.2 x 105 N/mm? and Poisson’s ratio is 0.25, then

bulk modulus of material (in N/mm?) will be

3 I HWH 1.2 x 105 N/mm? 3R @& Sigum 0.25 2, @ 9 H1 e
A (N/mm2) ® grm

(A) 12x10* (B) 2.0x105 (C) 3.0x10* (D) 1.2x 10

A rectangular plate surface is 2 m wide and 3 m deep. It lies in the vertical
plane in water. What will be the total pressure and position of center of
pressure on the plane surface when its upper edge is horizontal and coincides
with water surface ? (take g = 10 m/s?, p = 1000 kg/m?3)

T AR e 6 Fag 2 1, a*r:«ﬁaﬂtnﬁ el R | 98 Ut F Sreatu wHae o
ot § |aam3qﬁﬁﬁméﬁaaﬂtm=ﬁﬁm%amﬁﬁ@m,aﬁm
g W H CF 3R T & g & LIH FTEM 7

(A ST g = 10 m/s2, p = 1000 kg/m?3) |

(A) 90kN,2m (B) 80kN,1.5m(C) 100kN,2m (D) 89kN, I m
Find the Young’s Modulus of a brass rod having cross sectional area

200 mm? and of length 300 mm which is subjected to a tensile load of
200 kN when the extension of rod is 0.3 mm.

o didet i o Rt S5 Fie &7 200 mm? 37 T 300 mm 7o S 200 kN
T T R & 31 B 79 9 %1 R 0.3 mm &Y, IH1 31 J7qies 37 HIRT |
(A) 3.33 x 105 N/mm? (B) 5.0 x 106 N/mm?

(C) 2.33 x 105 N/mm? | (D) 3.33 x 104 N/mm?

— —
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96.

97.

98.

99.

100.
~ probable estimates are 5, 17 and 8 days respectively. The expected time is

101.

Assuming annual travel for each vehicle to be 10000 km, what is the
quantity of NOy produced from 25000 vehicles with emission rate of
1.0 g/km/vehicle ? .

(A) 200 tonnes (B) 250 tonnes (C) 100 tonnes (D) None of these

@ A 5 1 ared ¥ & 10000 6.7, =er &, T 25000 F1ET fpaeft 7T A
NO, ¥e1 ey § fment S X 1.0 g/fp.ft./amE 8 7

(A) 200 (B) 250 (C) 1002 (D) o8 & 1§ A8
A telation between g, t, m, L and v is expressed as (g2t4)/(mr?) = K V2 Where
g is acceleration, t is time, m is mass, 1 is length and v is velocity. The unit of
“K” in S.I units will be :

(A) newton~!  (B) joule (C) watt™ (D) None of these
g, t, m, 1 3N v % U9 U T9Y ! 39 THR (g2t4)/(mr2)=l§V26’ﬁH%ﬂTGﬂ'dT%
el g T, { T, m GO, | TS 37 v A | .1 qe H K 5 BF
&) = (B) W (© dt (D) FHAFRT
A differential free swell test on a soil gives a value of differential free swell
of 28%. What is the degree of swelling ?

(A) Moderate (B) Low (C) High - (D) Very high
foreh ga1 W w fadies e whifa wheo 28% Tatice ad Thifq qo 31 € |
shfa R wfec g ?

(A) "&H (B) = (C) = (D) 3fa 3=

In PERT analysis, the time estimates of activities and probability of their
occurrence follow :

(A) Normal distribution curve (B) Poisson’s distribution curve

(C) Beta distribution curve (D) None of these

PERT foreerwur &, st ah1 Gt SThe S 3o 213 1 Srshel Fon st &
(A) HTURY & T5h (B) @TE §ieH sk

(C) wrweA =h (D) FH 9 IS el

For a given activity, the optimistic time, pessimistic time and the most

%;) 8 days %%IB')Q 9 days (C) 10 days (D) 15 days

T Tk w5 R, STETd g, e e SR e e e
SHE: 5, 17 3R 8 ¥ | IATHG ¥ 2
A) 8T B) 9f& (C) 10fem (D) 15T
The constraints in case of resource smoothening operation would be
(A) Resources ..

(B) Project duration time Ej%
(C) Both resources and project duration time G
(D) None of these . _
mﬁ%mﬁmﬁm@m%

(A) dEmR (:)) TR SHIeTe

(C) TER R AR HrE gl (D) S B
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102,

The lacings are subjected to resist a transverse shear of

(A) 2.8% of axial force in the member

(B) 2.5% of axial force in the member

(C) 3.8% of axial force in the member

(D) None of these

ST TV 3 WY F for sue (aiftia) sefea 8 |
(A) e afiy 9 & 2.8% (B) 31aa # & e & 2.5%
(C) ¥ # avaftg 9 % 3.8% (D) 398 A HIE T8I

103. The dimensions for the special shape of clay bricks are given in
(A) 'IS:6165-1971 (B) IS:3951-1975
(C) 1IS:1001-1975 (D) All of these
ﬁaﬂﬁiﬁ%ﬁﬁwm%mw . tfenmng
(A) 1S:6165-1971 (B) IS:3951-1975
(C) 1S:1001 - 1975 - (D) IEaH
104. The process by which timber is cut and sawn into sections is called
(A) Conversion of timber (B) Seasoning of timber
. (© Sanng of timber (D) Fellmg of timber
s iR R saret Al % wier ik @l #§ = ST o HEd &
(A) THTE T FYTROT (B) mwmﬂ
(C) 918 I
105. If crest length is € ua['fo)rge wm $the channel then it is called
(A) Balanced weir (B) Supressed weir
(C) Non-supressed weir (D) None of these
uﬁﬂmﬁamﬁ%ﬂaiﬁa‘@s‘%m% NWHEAE
(A) ugfea s (B) owfafia s
(€) -faeg sl (D) T A H1E &
" 106. Development length is inversely proportional to :
: (A) Bond stress g (B) Bending stress
(©) Shear stress - . (D) Direct stress
Wﬁﬁ 2
(A) &Y srﬁaa | (B) aar-rsrﬁm |
| (C) 3q&9or wfoaa (D) W& Nfaaa
107. Time and progress chart of a construction, is also known as
(A) Bar chart . (B) Gantt chart
(C) Modified Milestone chart (D) All of these
@ﬁﬂhmmt{amaﬁaﬁﬂsﬁmm% |
" (A) SRR - (B) TR
(C) s TR I (D) FT&H 3
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108.

109.

110.

111.

112.

Residential buildings are treated ag

(A) Light construction (B) Heavy construction
(C) Industrial construction (D) Private construction
JTaTEY Wa T ! AT ST §

(A) T fmm (B) s Fmfor

The salient feature of functional organisation is :
(A) Strict adherence to specifications
(B) Separation of planning and design part

(C) Each individual maintains functional efficiency
(D) All of these

TS 1 6T AT R -

(A) fafR =1 aeh | Tem -

(B) TRISHT 3R YT HT AT

(C) m?ﬂﬁﬁma&mmt@m%l |

(D) e

Which of the following is not a PERT event ?

(A) Site investigation started (B) Sessional work completed
(C) Bus starts from Jaipur (D) Class is being attended
i dsR @ w PERT e i 8?7

(A) oy higeem (B) ot qoi

(C) IR H T Yw (D) e ¥ ufefy

If the thickness of a structural member is small as compared to its length and
width, it is classified as

(A) One dimensional (B) Two dimeﬁsional

(C) Three dimensional (D) None of these

aﬁ@mmﬁmmmmiﬂwﬁwﬁmﬁ @
FET T TehT0T BRI —
(A) THs iR (B) R-ukmmht  (C) fy-ufmmfi (D) sl @ v

Stiffeners are used in a plate glrder

" (A) To reduce the compressive stress

(B) To reduce the shear stress
(C) To take the bearing stress
(D) To avoid bulking of web plate
T N2 e 1 g 1 39N BT R

(A) Tfe e M e o (B) sregw wives ®i wer % fag

(C) & wferae B e & forg (D) 39 =i % SEHT & 799 & foe
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113. When the bolts are subjected to reversal of stresses, the most suitable type of

bolt is | |
(A) Black bolt (B) Ordinary unfinished bolt

©) Turned and fitted bolt (D) Hi gh strength bolt m
mmmﬁ%m%wﬁmé,aaﬁﬁmﬁ?mm
I9gF W 7

(A) FT e | (B) ®TYRuT 79Ut &lee

(C) AR 3R freaiee (D) I= g dlee

114. The load on a lintel is assumed as uniformly distributed if the height of the

masonry above it, is up to a height of , |
(A) The effective span _ (B) 1.25 times the effective span

(C) 1.50 times the effective span (D) 2.0 times the effective span
%ﬁamwmﬂmmﬁﬁaéwqmm%aﬁmwﬁﬁmﬁﬁ
m; wmﬁ% -

(A) et feregfar ) wreft fergfer <6t 1.25 T

(C) et feregfer &1 1.50 76N (D) st fargfar <61 2.0 AT

115. Effective length of a column effectively held in position and restrained in
direction at both ends, is . . _
@mﬁmm,ﬁﬁxﬁﬁmaﬁmﬁmﬂﬁwaﬂ@ﬁﬁﬁmﬁ
(A) L (B) 0.67L (C) 085L (D) 1.0L

116. In clayey soils : . |
(A) Swelling and shrinkage characteristics prevail
(B) Consolidation continues even after several years of construction

(C) Differential settlement is generally prevalent
(D) All of these

OR QT ;
(A) Foma 3 fagre Y wnafdesar et 2 |
(B) fawior & =% i &g sft Wi e @@ 2 |
(C) i Aeeriie FTUTUTaT ST9F BT 2 |
(D) TgaA
117. Which one of the following rocks is used for monumental buildings ?
(A) Granite (B) Marble (C) Sandstone (D) Slate
= 4 @ 3 @ a1 T Rat % o § s fer e #
(A) ¥Tge (B) W& (C) Hewm (D) &
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118.

119.

120.

121.

122,

Pick up the incorrect statement from the following : .

(A) The width of the wall is constructed thicker at the base in a stepped fashion.

(B) A long vertical load transferring concrete structure is called a concrete pile.

(C) The pile which transfers the load to the soil by the friction between the
pile and the surrounding soil is called friction pile.

(D) The pile which transfers the load to a hard rock bed at certain depth is
called load bearing.

1 1 @ e FeH HT I R .

(A) T G STHR (ITHR) F 3nam o e H =ers 91l Fiftfa i <t & |

(B) T well SHEATE W a0 Shzhie T ! ‘THshie T FEd 2 |

(©) 8 ) YU AT STEITE 6 7 F HEA YO G MR 7 HA JeT |
AT &, T T HEed! ¢ | -

(D) & qun S PR TETE T 9R 1 3 Th I el FWR F Hfl 7, ¥R

YR HEATA 8 | ‘ |

The bearing capacity of piles is determined by :
(A) Dynamic formula (B) Static formula
- (C) Pile load tests - (D) All of these
TYUTT <Y TTUT THAT 1. HTHeH FhaT ST @
(A) THFTAET (B) s ¥ g1 . E%
(C) QU HR 9I&1 g (D) Igadl =
The Auger boring method is not suitable for
(A) Very hard soil : (B) Cemented soil
(C) Very soft soil (D) All of these

| A fafy ¥ forusugm adi 2 |

(A) wfdEmm (B) WaATm (C) IWTTT (D) T|EEA

The window which is provided in flat roof of a room, is known
(A) Dormer window (B) Lantern window -
(C) Louvered window (D) Sky window

T R 6! FHAA B W A i T8 Rageht &l F7d 2 e
(A) TR fgehl (B) oeifagh (C) wses fasshl (D) @ Raghi
Fot a unique design of a channel by Kennedy’s theory '
(A) Its breadth must only be known

(B) Its depth must only be known -

(C) Its breadth and depth ratio must only be known

(D) All of these :

FS R & g0 Tob e ot Afgetg rfiveea & fag

(A) e IThH dgE T e wee |

(B) Faei ST TEE T eI 9o | . |

(C) Fact Iush! HgTs 3R TEE 1 AT T A1 =T |

(D) T®EH R
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123.

124.

125.

126.

127.

128.

130.

If void ratio is 0.5. then porosity will be

af RfTt arqura 0.5 2, < s gvft |

(A) 033 (B) 0.5 (C) 0.9 (D) 022

The unit of surface tension is :

TB-TE A THE R : .

(A) N/m (B) N'm>  (C) N/m? (D) N-m.

Euler’s number is the ratioof ___ force to pressure force.

(A) inertia (B) gravity (C) wviscous (D) None of these
HTAE =T ¥ § T oA T AU R | |

(A) TS B) TEEE () WA (D) TIPS
Mach number(M) is givenby : :

(A) M=V xC (B) M=V/C (C) M=C/V (D) None of these
i e (M) H fsmm e seh g |
(A) M=VxC (B) M=V/C (C) M=C/NV (D) 38 | HiE AE
In order to avoid tendency of separation at throat in a Venturimeter, the ratio

of the diameter at throat to the diameter of pipe should be |
(A) .1/16 to 1/8. (B) 1/8to1/4 (C) 1/4 to 1/3 (D) 1/3to1/2

@é@ﬂﬂa%’mmwﬁﬁ%qw%méﬁ%mém%
Y 1 I EHT A118Y A |
(A) 1/1691/8 (B) 1/881/4 (C) 1/491/3 (D) 1/391/2

The stability of a dam is checked for :

(A) Tension at the base (B) Overturning of the wall or dam

(C) Sliding of the wall or dam . (D) All of these '
¥ foru we wig i R H1 e fran St R |

(A) STUR QA (B) iy a1 <iar &1 HAferere

(C) T a1 T T ATHA (D) Igafi

Pitot tube is used for measurement of R

(A) Pressure (B) Flow <) Veloc_:ity (D). Discharge

fre Aferent 1 ITANT ‘mﬁ%m@mél o

(A) & (B) WaTg (C) an - (D) foms

Setting out of Lemniscate transition curves, is done with

(A) Perpendicular offsets (B) Radial offsets

(C) Deflection angles (D) Polar deflection angles

feareft aToT SIsht T TATIH g R g |

(A) e aera | (B) I F=aeha

(C) fagrdt wor | (D) g faadt s
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131.

133.

134.

135.

The distance travelled by revolving the wheel of a vehicle more than its
circumferential movement, is known as

(A) Slip (B) Skid

(C) Both (A) and (B) - (D) None of these

T STE 3 et 5 TEHET R 9 6 7 gft et i wTe & arferen 2t 2,
ST g @ - |

(A) qdur | (B) Trae™

(C) (A) 3 (B) gl (D) 37 & IS TE

Allowable rate of change of centrifugal acceleration as per IRC on highways
with design speed of 85 km/h will be :

IRC % @R ToWri T 85 .. /a1 it sifirpe 7 & FY SToehgll = &
SCATS T AT TLENT :
(A) 0.5 (®) 023  (C) 033 (D) 04

If lag distance is 20.0 m and braking distance is 40.0 m, then the stopping
site distance for two way traffic with single lane will be :

afe et gft 20.0 . 3 ST gl 40.0 #. R, A e o At femmlt aREET %
fosm R dRm At
(A) 1200m  (B) 600m  (C) 40.0m (D) 20.0m

In soil classification, GM corresponds :
(A) Clayey gravels and gravel sand mixture f;‘.%?'

~ (B) Silty gravels and gravel sand mixture

(C) Poorly graded sand
(D) None of these

et affeor #, GM 3 @I R |
(A) quaa oot SRSt s faor (B) Aol St 3R a9 &re fagon
(€) FewiaE (D) FHaFEE

A vehicle has wheel base of 36,0 m. What is the off-tracking while
negotiating a curved path with a mean radius 36.0 m ?

Teh 9184 1 THHTUR 36.0 1. 8 | & Thig vy R, forment amex = 36.0 . 2,
ATH - ek T B 2

- (A) 0.5m (B) 1.0m (C) 1.5m (D) 0.33m
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136. Aggregate crushing value is :

(A) Percentage of the crushed material passing 2.36 mm sieve in terms of
the original weight of the specimen .

(B) Percentage of the crushed material: passing 4.75 mm sieve in terms of
the original weight of the specimen

(C) Percentage of the crushed material passmg 1.18 mm sieve in terms of
the original weight of the specimen

(D) None of these

[LSIEICERER R FR

(A) T 3 e Wi we 7 2.36 mmmswmmmmm |

(B) w@%@w%mﬁm 75 mm B=f 3 TR aTet HgfeTa Uerd W1 e |

(C) T3 % el 7R % wed # 1.18 mm = 3 Tt T Hgferd verd %1 i |

(D) ¥H & g e

137. Basic value of span to effective depth ratio for span up to 10 m for cantilever is
M?ﬁat%%lqmmamﬁﬁﬁ?ﬁ%mﬁaﬁmwﬁmmm%
(A) 20 - ®) 7 © 10 - (D) 14

138. The co-efficient of longltudmal friction on highway for calculation of
stopping distance in geometrical design is

Tt e 3 w2 gt it o 3 fere e aﬂéﬂftréww‘%
(A) 045 (B) 0.35-04 (C) 0.5-0.65 (D) 0.15-02
139. Shear modulus of elast1c1ty is the ratio of |
(A) Shearing stress and shearing strain (B) - Stress and stram
(O Compresswe stress and strain (D) None of these
YA HTEYY] HIYTh ST 2
(A) FTETs e 3 st fagf 51
B) et 3 frepfer | |
(C) Hftes whreet 3k ferspler 1

(D) = @ B T | |
140. Free settling of partlcles in the sedimentation process is also called
~ (A) Discrete settling (B) Compressed settling
(C) Forced settling (D) All of these
mmﬁﬂww@m%sﬁm% L
@A) pER . (B) wdifea fRmor
(C) = ferm (D) a’a’mﬁ.w
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141.

142.

- 143.

145.

146.

Lime putty

(A) is made from hydraulic lime.  (B) is made by adding lime to water.
(C) can be used only up to three days. (D) All of these

T g

(A) S R AR |

(B) S i # e A e ® | |

(C) saadmfeAiam M w1 § | E@
(D) Fgaft |

Good quality stones must |

(A) be durable (B) be free from clay
(C) resist action of acids (D) All of these

(A) == (B) frdt g

(C) 3refa foram wioiedt (D) waft.
Which of the following bricks are used for lining of furnaces ?
(A) Over-burnt bricks (B) Under-burnt bricks
(C) Refractory bricks - (D) First class bricks

WA Y wmsfi % R e § @ 9 i Ee o Iwem Rear o weha @ 2

S (A) AR-gy R (B) wATUR  (C) SHAWEE R (D) WIS HI K
144.

The preparatlon of surface of stone to obtain plain edges or to obtam stones
of required size and shape is known as

(A) Quarrying of stones (B) Blasting of stones
(C) Seasoning of stones - (D) Dressing of stones
e Y FeE T HHGS FRARI A1 ST A aﬂtmqﬁ%mﬁaﬁaﬁ
SYShH HT 1T 8 —
(A) U HT TG (B) qmﬁ F1 TR
(C) TR HwaET (D) qmﬁwq&ww
The rock generally used for roofing, is
(A) Granite - (B) Basalt (C) Slate (D) Pumice
AU Bl % fo7e 0 8 areft A & — |
&) e (B) ¥ (C) & (D) f
Name the type of cement from the following for canal linings :
(A) Sulphate resisting cement (B) Rapid hardening cement
(C) Quick setting cement (D) Pozzolana cement
o & & gt <t Rt % forg e 3 TR &1 A wamse -
(A) TeheUdtdlie ~ (B) Yu w3t Hiwe
(C) ¥fier A ST Hide (D) WSt €5
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147. Minimum required water cement ratio for a workable concrete, is

T ThaToe: sshie & foru =am STavas St Hie 379Td 8

(A) 0.30 (B) 0.40 (C) 0.50 (D) 0.60
148. The most common indicator organism that represents polluted water is
(A) E.coli (B) C. vibrio (C) P. typhi (D) All of these

wfa I S frqor R e TER IR gues e @
(A) 3. Freh (B) #.fwfm () f.emdt (D) Tash

149. The niche of a species is meant for
" (A) Habitat and specific function of a species.
(B) Specific place where an organism lives.

(C) Specific species function and its competitive power.
(D) None of these

T Yo st e’ | dred ?: '
(A) & yarrfer w1 fafire = 3tk amamg |
(B) faRre wom sl e Ear? |
(C) fafire wenfoa wrt 3kt 37h) wfeerefars wfF |
(D) ¥ ¥+ 7
150. The flow rate through circular pipe is measured by
(A) Pitot-tube  (B) Venturimeter (C) Orifice meter(D) Both (B) & (C)
T TSI 9159 & WaETE U hY 36 g1 AT 71 & — ,
(A) fRafrm  (B) dgifie () MR (D) (B) 3ik (C) g

151. The point of contraflexure occurs only in case of.

(A) Overhang (B) Cantilever

(C) Continuous (D) Simply supported

Afe-aftads foig & &, e 7@ Fa o |

(A) Yo« (B) $flR (C) dad (D) &« Tefad

152. The sludge does not contain waste water from

(A) Kitchen sinks (B) Toilets (C) Bathrooms: (D)- Wash basins
9IS TATE BT g |

(A) FFAfs® (B) @@ (O EETRE (D) FUAIREA Y

153. If the load stresses are 20 kg/cm2, warping stresses’ are 25 kg/cm? and
frictional stresses are 24.0 kg/cm2, then what would be the value of critical
stresses combination (in kg/cm?) at edge region during summer mid-day ?

afe WR wfaee 20 kg/em? R, @9 Wiwe 25 kg/em? ® 3R wdur g
24.0 kg/em? R, aﬁﬁm?ﬂqmm%amﬁéammmmm
(kg/cm? W) FTAA TG 7. .- ‘
(A) 200 (B) 40.0. (C) 215 - (D) 55.0
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154. Tack coat is viscous than prime coat and hence applied

primecoat,

(A) less, before (B) less,after (C) more, before (D) more, after
TR, ALY WA AmE s T e
SUILIAC G-

@(A) F,TEA  (B) FA, W (C) W, TS (D) 9w,
§

A 30.0 m chain is found to be 0.5 m too short throughout the measurement.

If the distance measured is recorded as 300.0 m, then actual distance
measured will be

T 30.0 Y. =9 B Q 7= F W 0.5 f. Dot T ™ Hriimtﬁﬂ‘é{ﬂ
300.0 #. gt it 775, 7t weht 73 aneafass gl At -

(A) 295mM. (B) 300mMAt. (C) 302m/dt. (D) 303 m/.
156. The yield of a well depends upon

(A) Permeability of soil |

(B) Area of aquifer opening into the wells

(C) Actual flow velocity

(D) All of these

T HU 1 7wg PR e g - - |
(A) &I %I TR W (B) $¢d g It Fovg & W
(C) arfeeh YT 97 W (D) =gt
157. The slow setting cement will have higher percentage of
(A) Tri-Calcium aluminate (B) Tri-Calcium silicate
(C) Gypsum | (D) Di-Calcium silicate
T HiH A 9T it & _ wI=Yfaua e |
(A) TR-Hfewm QFgﬁﬁz (B) IE-Ficwem fafersre
(C) fram (D) ré-SHfvwm fafrre
158. When a rectangular beam is loaded longitudinally, shear develops on
(A) Every vertical plane only (B) Every horizontal plane
(C) Top fibre only (D) Bottom fibre only

e Teh HFAThR 10 Fed 9t Bt & A HIEor I BT & —
(A) Fadt a¥ft Tt g9aa T (B) wft &fers wwaer ©
(C) e FH BTFH R (D) Fe Freet Brge W

159. The line that connects all particles passing through a point is known as
(A) streamline (B) pathline (C) streakline (D) All of these
e fiig & Frerer aret il 6onl ) S Tt T R I I}

(A) UTRGET (B) wu@n (C) aui@n (D) FEaft
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160.

161.

Concrete mix design is intended to-

(A) achieve specified characteristic strength.
(B) achieve required workability.

(C) Both (A) and (B)

(D) None of these

Fshie Ty arfivey arfinia & |

(A) Tefare e amed o & o (B) ST G T % forg
(C) (A) 3R (B) M (D) T8 @ I3 Tl

Raingauge should preferably be fixed |

(A) near the building ~ (B) under the tree
(C) in an open space | (D) in a closed space

It St TR ¥ e St & =i

() TWEFIE (B) WHEHR (O gAwWd (D) TTWH]

162.

Compulsory direction control signs are L

(A) circular in shape with a yellow background and white direction arrows,
(B) circular in shape with a black background and white direction arrows,
(C) circular in shape with a blue background and white direction arrows.
(D) rectangular in shape with a blue background and white direction arrows,

(A) et gyl 3k wdhe fon W % ww srer A geftw |

((B) Tl gBfH 3 ke fewm A % qry a1meR 3wy |

(©) Freft g of W R 30 b A A g |

163.

165.

(D) -reft guvfyr 3t wihe feem X0 & ary TR H STITATHN |
In India generally sewage produced is |
supplied from water works. - |
;ﬁgm S A FI - GRT Il Gfeapfera e 7

1 o
(A) 75% - (B) 70% ©) 60% - (D) 65%
Partial safety factor for shop welding & field weldiﬁg"éfe .
(A) 1.10&1.25 (B) 1.25&1.25 (C) 125& 1.5 D) 1.5&1.5
T afeEn 3k fies dfeen & fore aniftes gan s 800
(A) 1.10@¥11.25(B) 12571 1.25(C) 1259115 (D) 1.57r 1.5
When water table is high, land gradient is steeper and soj] is easily erodible,
then the type of irrigation method suitable is ; '
(A) Check flooding | (B) Basin flooding
(C) Sprinkler - o (D) Allofthese
& I HT TR ST E, FHA ST g T YRR 71 2, o) I9GF

__of the accounted water

R Ay & - -

(A) Ut aTAET (B) FOf reeras (C) fSssv@ (D) grei
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166. The downhill end of the 20.0 m tape is held 20.00 cm too low. What is the
horizontal length ?

(A) 19.999 (B) 20.12m

(C) 19.78 m (D) None of these

20.0 #t. 39 &7 37l R 20.00 cm Tk 0 T@1 T | IEeh! Aferst wms TR 7
(A) 19999 m (B) 20.12m

(C) 19.78 m (D) ¥ ¥ g &l

@ Check line in surveying is :
“(A) line joining apex of the triangle to some fixed point on the opposite side.

(B) line joining apex of the triangle to some temporary point on the
opposite side.

(C) Both (A) and (B) ' : E}ﬁ
(D) None of these =
FA § A @R
(A) Y@ S e & i 1 g B W R ueh et foig @ Sired1 @ |
(B) %@_Ghﬁ*ﬂﬂ%:ﬁéﬂﬁ?@i@hqtm@m@ﬁgﬁaﬁaﬁ% |
(©) (A) 3 (B) T
(D) ¥ & HI5 T&
168. The magnetic bearing of a line is 135°. What will be its true bearing, if the
magnetic declination is 10° 15’ W ?

T V@ 1 gEHE RwHHE 135° % | IR Jeh fegard 10° 15' W 8, @t 381
el fehepA™ w1 3 2 L S
(A) 124°45' . (B) 145°15'  (C) 125° (D) 124°30’

169. Which one of the following is not the fundamental lines of the theodolite ?
(A) The vertical axis (B) The horizontal axis
(C) The axis of the plate levels (D) None of these '
e & & B o Rrelieemge I e W T g 7
(A) FER NG - . ‘ (B) sfas g
(C) wie Tl o1 A% - (D) & @ i3 &
170. In Fe4lS5, the deptl_i\of neutral axis in case of balanced section (where d=
effective depth) ' _
(A) 0.48d (B) 0.53d (C) 0.46d (D) None of these

Fed 15 3, Hafera e % wge & Fronielt arer 31 s & (et d = el Treers)
(A) 0.48d (B): 0.53d (C) 0.46d (D) T8 8 I8 &I

— i, e, e, S e, S—
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